Retracement of the 7th.3tandard Parallel Horth,from the standard 9
cor. of secs. 34 and 35,. T 36 N, R 48 F to the standard cor.
° = i p
A S ‘D)
of Tps 36 N, Rgs. 47 and 48 E,
Chaliis] 0L Cchoirnern, = ===
Difference bet. measurements.of 40.00 chs. twice Dy the

and

36

same set of chainmen is & lks.; position of middle point
By lst.measurement 40,0% chs,
By 2nd. measurement 39.97 chs., the mean of which 1s
40,00 T scarch diligently butrfiﬁﬂ no standard - sec, cor.
~.
Difference bet. measurements of 80.00 chs., twice by the
same set of chainmen is 6 lks.; position of middle p01qt
By 1st.maasurehént. 8008 chg,.
By 2nd. measurem@ntd79.97 chs.,the mean of which igd
80,00 | I search diligently but find no standard coe.for seqﬂ.FS
% continue ny‘blank Line T.;souéh of sec. 583 eontinuing
to m@ésufa the distances twice with the game set of chain-

cach

of

men and to take the mean of their measurements.
40,00 I search diligently but find ne standard Seec. Cor.
2L =76 I find the standard cor., of.Tps.36 N, Rgs. 46 and 47 E,
falling 1.12 chs., N, of my line.
a 4
ourse of these two miles is N 89°z6'Ew,
I is a stake 2 ins, diam. by Z‘Tt. above ground,set in the
ground in.a mound of carth and mkd, & notches on
the H. W, sand . edges,
From the standard cor. of Tps., 38 N, 45 and 47 In.

I run
s o1 & blank tandard

gouth

40,00 I search diligently but find no standard BeC.« COr,
80.00 T search diligently but find no standard cor. for sec
51l and 32,

i inue my blank line E.,south.of sec. Z
N
] il o . y
40,65 I find the sisxdard. o fec. tor., falling 1.08 ehs. H,
my line. Tt is a stake 1li ins. diam. by 15 .ins. above
firmly set in the ground in a mound of earth kd.
; on the N..face,
o 1%
Courge of this 1y miles is N 89°29'm.
from this standard SEeC. COFr..
T contimue my blank line E.,scouth of sec. B2
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